Math 2568, Quiz #8, Spring 2015 Name Kg\]/

Instructions: Show all work. Some problems will instruct you to complete operations by hand, some can
be done in the calculator. To show work on calculator problems, show the commands you used, and the
resulting matrices. Give exact answers (yes, that means fractions, square roots and exponentials, and
not decimals) unless specifically directed to give a decimal answer. This will require some operations to
be done by hand even if not specifically directed to. Be sure to complete all parts of each question.
1. List 4 properties of the Invertible Matrix Theorem. .
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2. IfabasisforR3isB = {[—Z],[ 0 },l—3”, and given [¥]; = | 0 ], find X in the standard basis.
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3. Ifavector in the standard basis is ¥ = [—7], find its representation in the basis in problem #2.
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4. Consider the basis C = {[—1‘,[ 4 H—z]}, and the vector [X], = [ 3 ] Find the representation
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of the vector in the basis B in problem #2.

P [R1c = s [, P = [ 3 —}]
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